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ack to recitations this week

Hw 5 out on Fri due 413

Agena
1 Variance us EV

2 Joint Conditional probability
3 Bayes Rule

Formutas

E X Pres Xi

E Ter
Expvalve

VarEx Xi MY P Si

and

Pr ELF Pr Ent Pr F

Bayes

Pr F P FIE P E PIF ME PrGE



t.kn.am
Bk EV doesn't tell the whole stay
I
average

EV variance whole picture

Roll a G sided die

8 it 3 lose 1 otherwise X

1 if 2,314,5 6 lose 2 otherwise Y

EM PA

EEX ELY

8 Yo t t

I

1.516 Z Ya

42 316 112

507
EX E Y

VarEx Xi M P Si can give us more

context

lMEIy



X Pres 516X 8 Pais 16

Xz 2 Pr sa 4642 1 Pr152 516

µ 5
M 5

8 572 Ya 1 1 5 2 516 1 5 2 1 2 572 Ya

11.25 1.25

Higher variance higher risk volatility



12JointllanditionalProbability

S sample Space 211 possible outcomes

E event space E IS outcomes we care about

now we have i event

joint probability two events occurring simultaneously

eaten together Pr E n F Pr E n F

Conditionalprobability one event occurring in the

presence of another event Have more information

Pr E F

Filiationjoint
angina

roll a 6 sided die

A roll is even B roll is prime

A roll is not even B roll is not prime

Pr A nos joint die is even t prime at same time

Pr A 1B and even given that it's prime



Pr B B 2 3,5
Ya
F j

É
1B na

Add me the squares Yat Yat46 Ya 66 I I
Pr Ia Pr Ian D Pr Anna

total prob of A happens w B or w 7 B

Draw balls out of an urn

2 urns each has 6 red balls 3 blue ones

draw from on 1 then urn 12
A B

A red a Bue

i tyin Pr Bible Zarta z
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Pr ELF Pr Ent Pr F

Pr of E given F

more info

Rolling 2 die

E even F prime

Pr E z prep z

that it I knee F

Pr El F Intuition primes are now samplespace

7 3,5

qq.my

4E t Y
ID

Use Formula
roll two die

what is prob one of the die is a 4

given that the sun is 7

E one die is a 4 F sun is 7



Priem III 3 3

E n F Zee outcomes where
E is the ay F is the

dependent

4,37 3 4



BBayesRTy
expansion of conditional probability

more information probability

pam 2 net WM Eyma

What we know

Pr El F Pr En
Wat it I don't know

TIF solve for En F

IPrknt P GH PCEID PCH RCFIH.PK

what we know joint
Pr F what if I don't know

Pr F Pr Fn e t Pr Faze
plug in

Y P CFID.pe E P F1 E PG

P ktM EI.MEYEPIp4



Tottenham Hotspur soccer

Laney's favorite player Sog

Stigon plays 20138 matches

Hotspurs win 75 games when Son plays

Hotspurs win 40 games when Son doesn't play

married 3Pr w s 75

presto fit ted
what is prob that we won

Pr w P was Pr wars

Pr wls Pres Pr w s pre's

it 5 20
38 40 18

38

Pr slu 438 1.6T



Pr El F Piffle
not known P Ent

not knan need to figure it out

Pr F Pr FIE PLE P FI E PGE


